Q al I 'T @ TPU AECATUYHBIX 3HAKA, TIOPSIIOK OMepaIyii co
CKOOKaMu

Nwms: Hara:_ Omenka:
(24,8 +30,4)+8 = (22,5+45,9)+9=

(24,6 +15,6)~ 6= (16,5+20,1)+3 =

(6,2+7,6)+2= (5,9+2)x3,6=

5,84,1+2,2)= 6,33,1-4,7) =

2,15,6 —5,1) = 3,4(6,2+4,7) =
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@ al I 'T @ TPU AECATUYHBIX 3HAKA, TIOPSIIOK OMepaIyii co
CKOOKaMu

Nwms: Hara:_ Omenka:
(24,8 +30,4)+-8=06.9 (22,5+45,9)+9="17.6
(24,6 +15,6)+~6=106.7 (16,5+20,1)+=3 =122
(6,2+7,6)+2=6.9 (5,9+2)x3,6=2844
5,8(4,1+2,2)=36.54 6,3(3,1—4,7) =-10.08
2,1(5,6 —5,1)=1.05 3,4(6,2+4,7)=37.06
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